6£5°L55°6L yS8°LL8'CY 8816£0'05 12.'968°69 £60'890'L $£9'82¢'89 0}Sex) |ap [ejoy,

Wi o SaJolaluY SB[edSid So1910iafT Bp sopnapy

o — o [3E:T: 1SIS 9P ojslwesues

o ' o sbuapiO A SeoMN SajuaIaji( saua saucioepody A'sauoined 1Siyed ‘seoualsjsuely

(¢} IR 0 epna( ej ap 0IAIOUBULY 01SOD / BN

° m;vJ ° o 0 0 0 S8I0LIBIUY S3UOIIUN L2 SEPRIYISEID OU SERQ

0 T o SODILIGUODT SOUNSY S A seulgnpul seno

; / o ugloeAoull| a yfojouds

0« ~-{0..

0 €]

0 L . I

[4] (o]

o T R eifisaug A ssiqisnquo)

o 0 eze) A Bdsad ‘_Inynoiallg “euendadoiby

0 o {ei3us9) U3 $ajeIoge A SA{BIDIBWOD ‘SODILIQUOIT SOUNSY

0 0 0 0 0 0 03]WOL0IY OjjoLieS:
o

o 0 mm_m_oowﬁw,scnm,q sono

o o _mwuowﬁco_uomwoi

o 0 . tgroeonp3y

0 0 $ojBI00G SaLiolvBISaUE SEAO A BIn)ND .co_umm._uw%

o 0 \ /ﬁs_m

s 0 peEpIUNWIOD B} & SOPRIASS A Bpuajal

0 0 feudiguiy uotosidd

[1] 4] 0 [} 0 0 gjo0g ofjou.

0 o sajelsuag sopines sbilo

0 o Jous pepunBag ap £ 0d11gnd uspiO @

0 0 teuoioen pepunbag

0 o SOLIBPUBDEH A Sa1BloUBUL mow Sy

o o SIOUBIXT sauoipelsy

N 0 Seng] 9p UOIDBUIPIOO

6£5'L5E'6L ¥58'2.8°Cy 881'6£0'0S 121'968'69 £60'890°L $£9'82£'89 Lt

[o] 0 ugioeisiBa v P

6£5°15¢'6} $58'248°2Y 881°6€0'05 121'96£'69 £60'880°L £9'82£'89 ousRiqey




